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(AUB) ={x/xe(AuB)} ={x/x¢ Arx¢B}
={x/xe ArXx e B}
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1)V (a,b) e NxN =>a+b=Db+a =>(a,b) R (a,b)

YV (a,b) R (c,d) => a+d=Db+c
ie ctb=d+a i.e (c,d) R (ab) Alaisddall ()

3) if(a,b)R(c,d)and (c,d)R (s,r) =>(a,b) R (s,r)
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[(2,2)] = { (x,y) € NxN; (x,y) R(1,1) }
{ (x,y) € NxN; (x+1=y+1)}
{ (xy) € NxN; (x=y) }

{(11), (2,2) ,(3,3), (4,4), ...}

[25)] = { (x,y) € NXN; (xy) R (2,5) }

= {(x,y) € NXN; x+5=y+2 }
={(Xy);y=x+3}

={X, x+3}

={(1,4), 2,5), (4,10), ... }
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= 4n?+10n + 26

fog = f(g(n)) = f(2n*+1) = 2(2n*+1) +5
= 4n° +7
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Df:R—>R, f(x) =sinx, Vx€R
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1) sin(xy) =sin(xy)
X1 #X,  say sin(0) =sin(IT) =0
0#11
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